
Problem(3.23(

The(polar(nota2on(presenta2on(of(our(two(vectors(is:((

1.)(

 

A = 3î − 2 ĵ

It(is(easy(to(add(and(subtract(vectors(presented(in(unit(vector(no2on,(not(so(easy(
to(do(it(in(polar.((In(unit(vector(nota2on,(we(can(write:(

 

B = − î − 4 ĵ

a.)((  

A +

B

 

A = 3î − 2 ĵ

 +

B = − î − 4 ĵ

 

A +

B = 2î − 6 ĵ

b.)((  

A −

B

 

A = 3î − 2 ĵ

 
−

B = − − î − 4 ĵ( )

 

A = 3î − 2 ĵ

 −

B = î + 4 ĵ

 

A −

B = 4 î + 2 ĵ

2.)(

c.)(
 

A +

B

 


A +

B = 22 − −6( )2

           = 6.32

d.)((
 

A −

B

 


A −

B = 42 + 22

           = 4.47

e.)((Angles?(

 

θ A+

B = tan −6

2
⎛
⎝⎜

⎞
⎠⎟

        = −71.6o       = 288o( )

 

θ A−

B = tan 2

4
⎛
⎝⎜

⎞
⎠⎟

        = 26.6o   
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
B
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
A +

B = 2î − 6 ĵ
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
A −

B = 4 î + 2 ĵ

 

A −

B

y

x

2

4
 
θ A−
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